

On the q -capability of groups

Forough Gharibi Monfared*, Saeed Kayvanfar†
and Farangis Johari‡

*Department of Pure Mathematics
Ferdowsi University of Mashhad
Mashhad, Iran*

**fr.gharibimonfared@mail.um.ac.ir*

†*skayvanf@um.ac.ir*

‡*farangis.johari@mail.um.ac.ir*

Communicated by A. F. Vasilev

Received July 22, 2019

Revised February 11, 2020

Accepted March 30, 2020

Published 25 June 2020

Given a positive integer q , in this paper, we investigate some more properties of the q -capability of groups. For instance, the relationship between q -capability and the varietal capability is determined. Moreover, we introduce the notion of q -epicenter for a group and then we obtain some criteria for the q -capability of groups. Finally, as an application, we characterize all q -capable extra-special p -groups when q is a power of p .

Keywords: q -capable groups; q -exterior product of groups; capable groups.

AMS Subject Classification: 20F29, 20J05

1. Introduction

First, Baer in [2] has presented conditions for a group G to be the inner automorphism group of another group H ($G \cong H/Z(H)$). In the same paper, all capable groups which are the direct sums of cyclic groups are classified. Later, Hall and Senior in [11] used the word “capable” to call such a group G . Ellis in [9] found a new characterization of capable groups and then defined the notion of q -capable groups for $q \geq 0$. Recall that the q -center of a group G is the subgroup $Z_q(G)$ of the center $Z(G)$ consisting of those elements of order dividing q . A group G is said to

†Corresponding author.

be q -capable if there exists a group E such that $G \cong E/Z_q(E)$ and $Z(E) = Z_q(E)$. Note that q -capability implies capability (that is, 0-capability). Moghaddam and Kayvanfar in [13] have generalized the concept of capability to any variety ν of groups which is called ν -capability. For the variety \mathcal{N}_c of nilpotent groups of class c or less, \mathcal{N}_c -capability is called c -capability for $c \geq 1$. The notion of c -capability of groups is studied in [7, 13]. Following the terminology of [7, 13] a group G is called c -capable if $G \cong H/Z_c(H)$ for some group H , where $Z_c(H)$ is the c th term of the upper central series of H . Therefore, there are differences between the c -capability and the q -capability of groups. Ellis in [9] have defined the q -exterior center of G , $Z_q^\wedge(G)$, to be the set of all elements g of G for which $g \wedge h = 1_{G \wedge^q G}$ for all $h \in G$ and \wedge^q denotes the operator of the non-abelian q -exterior square. (See [8] for more details.) The 0-exterior center of G , $Z_0^\wedge(G)$, is called the exterior center of G , $Z^\wedge(G)$. Ellis has also proved that a group G is q -capable if and only if its q -exterior center is trivial. Then, Beyl *et al.* in [3] have defined the epicenter $Z^*(G)$ for a group G . It gives a necessary and sufficient condition for the capability of groups. In fact, a group G is capable if and only if $Z^*(G) = 1$. It is shown that $Z^\wedge(G) = Z^*(G)$.

The non-abelian q -tensor product plays a fundamental role to determine the q -capability of groups and so we need to know the structure of it. Several authors have introduced a construction related to q -tensor product in [6, 14, 16]. They have used a slightly different approach which is particularly useful for computer computations of the non-abelian tensor square of polycyclic groups. (See for instance references [6, 16].) We will determine the q -capability of extra-special p -groups by Rocco's results. The purpose of this paper is further investigations into the q -capability of groups. We will also be able to find a relation between q -capability and varietal capability via the variety ν and then state some more results of q -capability. In this paper, we have found criteria for recognizing q -capable group by introducing the notion of q -epicenter $\mathfrak{Z}_q^*(G)$ for a group G . Finally, we classify the q -capable extra-special p -groups.

2. Preliminaries

In this section, we introduce some notations and present some known results without proofs which are useful in the next sections.

Recall that, given a group G , a G -crossed module is a group homomorphism $\mu : M \rightarrow G$ with an operation of G on M such that, for $g \in G$ and for $m, m' \in M$ one has

- (i) $\mu(gm) = g\mu(m)g^{-1}$,
- (ii) $\mu(m)m' = mm'm^{-1}$.

Let $\mu : M \rightarrow G$ and $\nu : N \rightarrow G$ be two G -crossed modules and consider the pullback

$$\begin{array}{ccc}
 M \times_G N & \xrightarrow{\pi_2} & N \\
 \downarrow \pi_1 & & \downarrow \nu \\
 M & \xrightarrow{\mu} & G
 \end{array}$$

Let $K = M \times_G N = \{(m, n) \mid m \in M, n \in N, \mu(m) = \nu(n)\}$. In this diagram, each group acts on any other group via its image in the group G . Now we continue with the following definition.

Definition 2.1 ([8]). Let $q \geq 0$. The tensor product module q , $M \otimes^q N$, of the G -crossed modules μ and ν is a group generated by the symbols $m \otimes n$ and $\{k\}$ such that $m \in M, n \in N, k \in K$. In this group, the following relations hold. For $m, m' \in M, n, n' \in N$ and $k, k' \in K$,

$$m \otimes (nn') = (m \otimes n)({}^n m \otimes {}^n n'), \tag{2.1}$$

$$mm' \otimes n = ({}^m m' \otimes {}^m n)(m \otimes n), \tag{2.2}$$

$$\{k\}(m \otimes n)\{k\}^{-1} = ({}^{k^q} m \otimes {}^{k^q} n), \tag{2.3}$$

$$[\{k\}, \{k'\}] = \pi_1 k^q \otimes \pi_2 k'^q, \tag{2.4}$$

$$\{(m^n m^{-1}, {}^n m m^{-1})\} = (m \otimes n)^q, \tag{2.5}$$

and

$$\{kk'\} = \{k\} \left(\prod_{i=1}^{q-1} (\pi_1 k^{-1} \otimes ({}^{k^{1-q+i}} \pi_2 k'^i)) \right) \{k'\}. \tag{2.6}$$

The group $M \wedge^q N$ is the quotient of the q -tensor product $M \otimes^q N$ by the relation

$$\pi_1 k \otimes \pi_2 k = 1 \quad \text{for all } k \in K. \tag{2.7}$$

In other words, the group $M \wedge^q N$ is the quotient of the group $M \otimes^q N$ by the subgroup generated by the set $\{m \otimes n \mid (m, n) \in K\}$. Consider $m \wedge n$ as the image of $m \otimes n$ in $M \wedge^q N$.

For $q = 0$, the tensor product $M \otimes^0 N$ is the group generated by the symbols $m \otimes n$ for $m \in M, n \in N$ subject to the relations (2.1) and (2.2). In fact the tensor product $M \otimes^0 N$ is the non-abelian tensor product $M \otimes N$ defined in [5]. The following corollary is useful in the next results.

Corollary 2.1 ([8, Proposition 1.6]). *Let $[M, N]$ be a normal subgroup of $K = M \times_G N$ generated by the elements $(m^n m^{-1}, m m n n^{-1}), m \in M, n \in N$. Then there exists a commutative diagram with exact rows.*

$$\begin{array}{ccccccc}
 M \otimes N & \xrightarrow{\varphi} & M \otimes^q N & \longrightarrow & K/[M, N] & \longrightarrow & 1 \\
 \downarrow & & \downarrow & & \downarrow id & & \\
 M \wedge N & \xrightarrow{\psi} & M \wedge^q N & \longrightarrow & K/[M, N] & \longrightarrow & 1
 \end{array}$$

We assume that the reader is familiar with the notion of the verbal subgroup $V(G)$ and the marginal subgroup $V^*(G)$, associated with a variety of group ν and a given group G . See [15] for more information on variety of groups.

Definition 2.2 ([13, Definition 2.1]). Let ν be a variety of groups by the set of laws V . A group G is said to be ν -capable if there exists a group E such that $G \cong E/V^*(E)$.

Recall that the subgroup of G is defined in [13, Definition 2.1] as follows:

$$(V^*)^*(G) = \bigcap \{ \psi(V^*(E)) \mid \psi : E \rightarrow G \text{ is a surjective homomorphism with } \ker \psi \subseteq V^*(E) \}.$$

The following theorem gives a necessary and sufficient condition for the ν -capability of groups.

Theorem 2.1 ([13, Corollary 2.4])). *A group G is ν -capable if and only if $(V^*)^*(G) = 1$.*

For a given group G , the q -exterior center of G for $q \geq 0$, which is useful in deciding whether a group G is q -capable (see [9]), is defined by Ellis as follows:

$$Z_q^\wedge(G) = \{ g \in G \mid g \wedge x = 1_{G \wedge^q G} \text{ for all } x \in G \}.$$

3. The Concept of q -Capability

Throughout this section, we find some structural properties of q -capability that relates to varietal capability.

For a given group G , G^q and G' denote the subgroup $\langle g^q \mid g \in G \rangle$ and the derived subgroup of G , respectively. Now, suppose that $q \geq 0$ and $q \neq 1$. Let $V_q = \{x_1^q, [x, y]\}$ be the set of laws. Clearly, the verbal and marginal subgroups of a group G are $V_q(G) = G'G^q$ and $V_q^*(G) = Z_q(G)$, respectively. Recall that φ is a ν_q -extension of the group G if $\varphi : E \rightarrow G$ is a surjective homomorphism such that

$\ker \varphi \subseteq V_q^*(E) = Z_q(E)$. The intersection of all subgroups of the form $\varphi(V_q^*(E))$ is denoted by $(V_q^*)^*(G)$ ([3]). A ν_q -capable group is the varietal capable group via the variety ν_q of groups defined by the set of laws V_q .

Lemma 3.1. *Let G be a q -capable group for $q \geq 0$ and $q \neq 1$. Then G is ν_q -capable.*

Proof. It is straightforward. □

Now, we provide an example of a q -capable group. For this, let C_n denote the cyclic group of order n .

Example 3.1. Consider G to be the dihedral group of order 8. Clearly, $Z_q(G) = Z(G)$ if $q = 2^t$ and $t \geq 1$. Since $G/Z_q(G) \cong C_2 \times C_2$, the group Klein four-group, V_4 , is q -capable.

Note that we can similarly state all concepts and conclusions in [13] for the q -capability of groups.

Recall that from [4] a q -central extension of a group G is an exact sequence $1 \rightarrow \ker \varphi \xrightarrow{\varphi} E \rightarrow G \rightarrow 1$ such that $\ker \varphi \subseteq Z_q(E)$ and then we define the following central subgroup as follows:

$$(Z_q^*)^*(G) = \bigcap \{ \ker \varphi(Z_q(E)) \mid \varphi : E \rightarrow G \text{ is a } q\text{-central extension} \}.$$

Corollary 3.1. *Let G be a group. Then $(Z_q^*)^*(G) \subseteq Z_q^\wedge(G)$ for all $q \geq 0$ and $q \neq 1$.*

Proof. It is easily obtained from [13, Corollary 2.4; 9, Proposition 16(vii)]. □

Therefore, we can find a criterion for detecting ν_q -capable groups by the q -epicenter subgroup of group G , which is defined in next chapter. We now present some properties of ν_q -capability and q -capability.

Lemma 3.2. *Let G be a group. Then for any integer $n, q \geq 1$ holds*

$$G \supseteq Z_q^\wedge(G) \supseteq Z_{q^2}^\wedge(G) \supseteq \dots \supseteq Z_{q^{n-1}}^\wedge(G) \supseteq Z_{q^n}^\wedge(G) \supseteq \dots$$

Proof. By [8, Theorem 1.22(2)], we have the following homomorphism

$$\begin{aligned} \phi : G \wedge^{q^n} G &\rightarrow G \wedge^{q^{n-1}} G \\ g \wedge g_1 &\mapsto g \wedge g_1 \\ \{k\} &\mapsto \{k^q\} \end{aligned}$$

for all $g_1, g, k \in G$. Therefore, $Z_{q^{i+1}}^\wedge(G) \subseteq Z_{q^i}^\wedge(G)$ for all $i \geq 1$. The result holds. □

Obviously, the q^n -capability of groups implies the (q^{n+1}) -capability for all $n, q \geq 1$. The following result will help us to determine the q -capability of some

interesting groups. Notice that finite p -groups are some interesting examples of finite nilpotent groups. What can we say about q -capable p -groups? The following proposition provides a condition under which we can identify a q -capable p -group, where p is prime and $q \geq 0$.

Proposition 3.1. *Let G be a non-trivial q -capable finite p -group such that p is prime and $q \geq 0$. Then p divides q .*

Proof. According to the definition of q -capability, there exists a group E such that $G \cong E/Z(E)$ and $Z(E) = Z_q(E)$. By [12, Lemma 2.1], we can choose E as a finite nilpotent group. Thus $E \cong S_{p_1} \times \cdots \times S_{p_r}$ where S_{p_i} is a p_i -Sylow subgroup of G for all $1 \leq i \leq r$. Set $p_1 = p$. Then,

$$E/Z(E) \cong (S_{p_1}/Z(S_{p_1})) \times \cdots \times (S_{p_r}/Z(S_{p_r})).$$

Since $E/Z(E)$ is a p_1 -group and $Z_q(E) = Z(E)$, we have $Z_q(E) = Z(E) = Z(S_{p_1}) \times S_{p_2} \times \cdots \times S_{p_r}$. As a result, the order of x divides q for all $x \in Z(S_{p_1})$, as required. \square

Remark 3.1. Let G be a q -capable finite nilpotent group of order $n = p_1^{\alpha_1} \cdots p_s^{\alpha_s}$ such that p_i is prime and $p_i \neq p_j$ for $i \neq j$. Then p_i divides q for all $1 \leq i \leq s$.

Now, we discuss the structure of all ν_q -capable groups. Here, we use $o(x)$ and $\exp(G)$ to denote the order of x in a group G and the exponent of G , respectively.

Lemma 3.3. *Let $q \geq 0$ and $q \neq 1$. If G is a ν_q -capable group and (E, φ) is a q -central extension of G with $\ker \varphi = V_q^*(E) = Z_q(E)$, then we can define a bilinear homomorphism (bihomomorphism) $\alpha : Z_q(G) \times G \rightarrow Z_q(E)$ such that the left kernel of α is trivial and right kernel of α contains $G'G^q$.*

Proof. Let

$$A = \{t_x Z_q(E) \in E/Z_q(E) \mid \varphi(t_x) = x \text{ for all } x \in G\}.$$

One can easily check that $\varphi([t_x, t_y]) = 1$ for every $x \in Z_q(G)$ and $y \in G$, so $[t_x, t_y] \in Z_q(E)$ for every $x \in Z_q(G)$ and $y \in G$. We can also conclude that for every $x_1, x_2 \in G$

$$t_{x_1 x_2} = t_{x_1} t_{x_2} z \tag{3.1}$$

for some $z \in Z_q(E)$, since φ is a homomorphism. Now we can define the map

$$\begin{aligned} \alpha : Z_q(G) \times G &\rightarrow Z_q(E), \\ (x, y) &\mapsto [t_x, t_y]. \end{aligned}$$

It is obvious that the commutators $[t_x, t_y]$ are independent of the chosen transversal for every $x \in Z_q(G)$ and $y \in G$. Now let $(x_1, y_1) = (x_2, y_2)$ such that $x_1, x_2 \in Z_q(G)$

and $y_1, y_2 \in G$. Then $t_{x_1} = t_{x_2}z_1$ and $t_{y_1} = t_{y_2}z_2$ for some $z_1, z_2 \in Z_q(E)$, so we can easily verify that $[t_{x_1}, t_{y_1}] = [t_{x_2}, t_{y_2}]$. Therefore α is well-defined. We claim that α is bilinear homomorphism. We have

$$\begin{aligned} \alpha(x_1x_2, y) &= [t_{x_1x_2}, t_y] = [t_{x_1}t_{x_2}z_1, t_y] \\ &= [t_{x_1}, t_y][t_{x_2}, t_y] \\ &= \alpha(x_1, y)\alpha(x_2, y) \end{aligned}$$

for every $x_1, x_2 \in Z_q(G)$, $z_1 \in Z_q(E)$ and $y \in G$, by relation (3.1). We can similarly prove that $\alpha(x, y_1y_2) = \alpha(x, y_1)\alpha(x, y_2)$ for every $x \in Z_q(G)$ and $y_1, y_2 \in G$. Thus α is a bilinear homomorphism.

We claim that the left kernel of α is trivial. Let x be an arbitrary element of the left kernel of α . If u is an arbitrary element of E , then there exists an element of G like g such that $u = t_gz$ ($z \in Z_q(E)$). Therefore, $t_x \in Z(E)$. We also know that $t_{x^q} \in \ker \varphi = Z_q(E)$, since x is an element of left kernel of α , which is a subset of $Z_q(G)$. Now we verify that $t_x t_{x^{q-1}}^{-1} \in Z_q(E)$. Since t_x is a central element of E , $o(t_x)$ divides $o(t_x t_{x^{q-1}}^{-1})$. On the other hand, $o(t_x t_{x^{q-1}}^{-1})$ divides q . Therefore, $t_x \in Z_q(E)$ and so the left kernel of α is trivial.

We claim that the right kernel of α must contain $G'G^q$. Assume that $[g_1, g_2]g^q$ is an element of $G'G^q$ such that $g, g_1, g_2 \in G$. Clearly, $t_{[g_1, g_2]g^q} = t_{[g_1, g_2]}t_{g^q}z$, by relation (3.1) for some $z \in Z_q(E)$. We also have $t_{[g_1, g_2]} = [t_{g_1}, t_{g_2}]z_1$ such that $z_1 \in Z_q(E)$, since φ is a homomorphism. Thus

$$\begin{aligned} [t_y, t_{[g_1, g_2]g^q}] &= [t_y, t_{[g_1, g_2]}t_{g^q}z] \\ &= [t_y, t_{[g_1, g_2]}][t_y, t_{g^q}] \\ &= [t_y, [t_{g_1}, t_{g_2}]z_1][t_y, t_{g^q}] \\ &= [t_y, [t_{g_1}, t_{g_2}]] [t_y, t_{g^q}] \\ &= [t_{g_1}, t_{g_2}, t_y]^{-1} [t_y, t_{g^q}] \end{aligned}$$

for all $y \in Z_q(G)$. By the Hall–Witt identity, we have

$$[t_{g_1}, t_{g_2}, t_y]^{t_{g_2}^{-1}} [t_{g_2}^{-1}, t_y^{-1}, t_{g_1}]^{t_y} [t_y, t_{g_1}^{-1}, t_{g_2}^{-1}]^{t_{g_1}} = 1$$

and so $[t_{g_1}, t_{g_2}, t_y] = 1$. We can conclude that $[t_y, t_{g^q}] = [t_y, t_{g^q}]$ by relation (3.1). Therefore,

$$[t_y, t_{[g_1, g_2]g^q}] = [t_y, t_{g^q}].$$

Now we can easily conclude that

$$[t_y, t_{[g_1, g_2]g^q}] = [t_y, t_{g^q}]^q = 1,$$

since $[t_y, t_x] \in Z_q(E)$ for every $x \in G$. As a result, $G'G^q$ is a subset of the right kernel of α . The proof is completed. \square

The following theorem is a necessary condition for the ν_q -capability of groups.

Theorem 3.1. *Let $q \geq 0$ and $q \neq 1$. If G is a ν_q -capable group and $G/V_q(G)$ is of finite exponent, then the exponent of $V_q^*(G)$ divides the exponent of $G/V_q(G)$.*

Proof. By Lemma 3.3, we have the following bilinear homomorphism

$$\begin{aligned} \alpha : Z_q(G) \times G &\rightarrow Z_q(E) \\ (x, y) &\mapsto [t_x, t_y]. \end{aligned}$$

Also the left kernel of α is trivial and the right kernel of it contains $G'G^q$. Assume $\exp(G/G'G^q) = e$ and $yG'G^q$ is an arbitrary element of $G/G'G^q$. Then, y^e is an element of the right kernel of α . Hence, $1 = \alpha(x, y^e) = \alpha(x^e, y)$ for all $x \in Z_q(G)$ and $y \in G$. As a consequence, x^e is trivial. The result follows. \square

Now we express another proposition about ν_q -capable groups.

Proposition 3.2. *Let G be a ν_q -capable group for $q \geq 0$. Then, the order of z divides $\exp(G/G'G^q\langle z \rangle)$ for all $z \in Z_q(G)$.*

Proof. For $q = 1$, the statement of this proposition is trivial. By using Lemma 3.3 for $q \geq 0$ and $q \neq 1$, we know that there is a bilinear homomorphism

$$\begin{aligned} \alpha : Z_q(G) \times G &\rightarrow Z_q(E) \\ (x, y) &\mapsto [t_x, t_y]. \end{aligned}$$

Also the left kernel of α is trivial and the right kernel of it contains $G'G^q$. Hence,

$$\alpha(x, y^n) = \alpha(x, y)^n = \alpha(x^n, y)$$

for all $x \in Z_q(G)$, $y \in G$, and $n \in \mathbb{Z}$. Clearly, the exponent of $G/(G'G^q\langle z \rangle)$ divides q . Let $\exp(G/G'G^q\langle z \rangle) = e$. Since $1 = \alpha(z, y^e) = \alpha(z^e, y)$ for all $y \in G$, we conclude that z^e is an element of the left kernel of α . Consequently, z^e is trivial, as required. \square

Finally let us mention a necessary condition for the p -capability of p -groups.

Corollary 3.2. *Let G be a p -capable finite p -group. Then $Z_p(G)$ is an elementary abelian group.*

Proof. From Proposition 3.2 and the fact that the exponent of the group $G/(G'G^p\langle z \rangle)$ is p , the result follows. \square

4. A New Criterion for q -Capable Groups

In this section, we obtain a new criterion for q -capable groups which is more practical by its construction. Given two normal subgroups G and H of some group L ,

the subgroup of L generated by the commutators $[g, h]$ and the q th powers k^q for $g \in G$, $h \in H$ and $k \in G \cap H$ is denoted by $G\#_q H$. The following computations play an important role in the main results. Clearly, $Z(G) \wedge^q G$ is abelian. We define $\mu : Z(G) \rightarrow G/G'$ by $\mu(x) = xG' \in G/G'$ for all $x \in Z(G)$. Let

$$K_{G/G'} = Z(G) \times_{G/G'} G/G' = \{(x, xG') \mid x \in Z(G)\}$$

and

$$K_G = Z(G) \times_G G = \{(x, x) \mid x \in Z(G)\}.$$

Now, we can consider the following pullbacks

$$\begin{array}{ccc} Z(G) \times_{G/G'} G/G' & \xrightarrow{\pi_2} & G/G' \\ \downarrow \pi_1 & & \downarrow id \\ Z(G) & \xrightarrow{\mu} & G/G' \end{array}$$

and

$$\begin{array}{ccc} Z(G) \times_G G & \xrightarrow{\pi_2} & G \\ \downarrow \pi_1 & & \downarrow id \\ Z(G) & \xrightarrow{\subseteq} & G \end{array}$$

Lemma 4.1. *Let G be a group and $q \geq 0$. Then, $Z(G) \otimes^q G$ is an abelian group and*

$$Z(G) \otimes^q G \cong Z(G) \otimes^q (G/G').$$

Proof. [9, Theorem 6(iv)] implies

$$\begin{aligned} Z(G) \otimes^q G &\cong (Z(G)/Z(G)\#_q Z(G)) \otimes_{\mathbb{Z}} (G/G\#_q G) \\ &\cong (Z(G)/Z(G)^q) \otimes_{\mathbb{Z}} (G/G'G^q) \cong Z(G) \otimes^q (G/G'), \end{aligned}$$

where $\otimes_{\mathbb{Z}}$ denotes the usual tensor product of abelian groups. Therefore, $Z(G) \otimes^q G$ is abelian, as required. \square

We are ready to present the following result.

Lemma 4.2. *Let G be a group. Then $Z(G) \wedge^q G \cong Z(G) \wedge^q (G/G')$.*

Proof. We define

$$\begin{aligned} f : Z(G) \wedge^q (G/G') &\rightarrow Z(G) \wedge^q G \\ x \wedge yG' &\mapsto x \wedge y \\ \{(x, xG')\} &\mapsto \{(x, x)\}, \end{aligned}$$

where $x \in Z(G), y \in G$ and $xG', yG' \in G/G'$. Let $y = y_1g_1$ and $g_1 = \prod_{i=1}^t [x_i, d_i]$ for all $y_1, y, x_i, d_i \in G$ and $x \in Z(G)$. Then $x \wedge y = x \wedge y_1g_1 = (x \wedge y_1)^{y_1} (x \wedge g_1)$. It is sufficient to show that $x \wedge g_1$ is trivial.

$$x \wedge g_1 = x \wedge \prod_{i=1}^t [x_i, d_i] = (x \wedge [x_1, d_1])^{[x_1, d_1]} \left(x \wedge \prod_{i=2}^t [x_i, d_i] \right).$$

By Lemma 4.1, we can easily verify that

$$\begin{aligned} x \wedge [x_1, d_1] &= (x \wedge^{x_1} d_1)(x \wedge d_1^{-1}) \\ &= (x \wedge^{x_1} d_1)(x \wedge d_1)^{-1} = 1. \end{aligned}$$

By the same process, we conclude that $x \wedge g_1 = 1$ and so $x \wedge y = x \wedge y_1g_1 = x \wedge y_1$. Therefore, f is well-defined. It is enough to show that f commutes with relations (2.1)–(2.7). In effect

$$f(xx' \wedge yG') = xx' \wedge y = (x' \wedge^x y)(x \wedge y) = f(x' \wedge^x yG')f(x \wedge yG')$$

and

$$f(x \wedge yy'G') = x \wedge yy' = (x \wedge y)(y \wedge^x y') = f(x \wedge yG')f(y \wedge^x y'G').$$

We define the actions of $K_{G/G'}^q$ and K_G^q on G by $(x, xG')^q m = m^{x^q}$ and $(x, x)^q m = m^{x^q}$ for all $x \in Z(G)$ and $m \in G$. Let \bar{x} denote the image of $x \in G$ in G/G' . Now we state the following relations.

$$\begin{aligned} f((x, \bar{x})^q g \wedge (x, \bar{x})^q \bar{h}) &= f((x, \bar{x})^q g \wedge \overline{(x, \bar{x})^q h}) \\ &= x^q g \wedge x^q h \\ &= f(\{(x, \bar{x})\})f(g \wedge \bar{h})f(\{(x, \bar{x})\})^{-1}, \\ f(\{(x, \bar{x})(x', \bar{x}')\}) &= \{(x, x)(x', x')\} \\ &= \{(x, x)\} \prod_{i=1}^{q-1} (x^{-1} \wedge (x^{1-q+i} x')^i) \{(x', x')\} \\ &= f(\{(x, \bar{x})\}) \prod_{i=1}^{q-1} f(x^{-1} \wedge \overline{(x^{1-q+i} x')^i}) f(\{(x', \bar{x}')\}), \end{aligned}$$

$$\begin{aligned}
 f(x^q \wedge \overline{x'^q}) &= x^q \wedge x'^q \\
 &= [\{(x, x)\}, \{(x', x')\}] \\
 &= [f(\{(x, x)\}), f(\{(x', x')\})], \\
 f(\{m^n m^{-1}, \overline{m m^{-1}}\}) &= \{m^n m^{-1}, m m^{-1}\} \\
 &= (m \otimes n)^q \\
 &= f(m \wedge \overline{n})^q
 \end{aligned}$$

and

$$f(x \wedge \overline{x}) = (x \wedge x) = 1$$

for all $x, x', g, m, n \in Z(G)$ and $y, y', h \in G$. We claim that f is an isomorphism. Define the following map

$$\begin{aligned}
 f_1 : Z(G) \wedge^q G &\rightarrow Z(G) \wedge^q (G/G') \\
 x \wedge y &\mapsto x \wedge \overline{y}, \\
 \{(x, x)\} &\mapsto \{(x, \overline{x})\}.
 \end{aligned}$$

Clearly, f_1 is a homomorphism. Since $f f_1 = \text{id}_{Z(G) \wedge^q G}$ and $f_1 f = \text{id}_{Z(G) \wedge^q (G/G')}$, we obtain

$$Z(G) \wedge^q G \cong Z(G) \wedge^q (G/G'),$$

which completes the proof. □

The following corollary is an immediate result from Lemma 4.2 and [9, Proposition 7].

Corollary 4.1. *Let G be a group and $q \geq 0$. Then the canonical sequence of homomorphisms*

$$Z(G) \wedge^q (G/G') \xrightarrow{\rho} G \wedge^q G \rightarrow G/Z(G) \wedge^q G/Z(G) \rightarrow 1$$

is exact.

Now we are ready to define the q -epicenter of groups by the homomorphism ρ , which is introduced in Corollary 4.1.

Definition 4.1. Let G be a group and $q \geq 0$. The q -epicenter of G is denoted by $\mathfrak{Z}_q^*(G)$ and is defined as

$$\{z \in Z(G) \mid z \wedge a \in \ker \rho \text{ for all } a \in G/G'\}.$$

In the following theorem, we provide a certain characterization for the q -capability of groups.

Theorem 4.1. *Let G be a group and $q \geq 0$. Then $(Z_q^*)^*(G) \subseteq Z_q^\wedge(G) = \mathfrak{Z}_q^*(G)$.*

Proof. If $q = 1$, then G is ν_1 -capable, since $Z_1(G) = 1$. Hence $(Z_q^*)^*(G)$ is trivial, by Theorem 2.1. We also have $(Z_q^*)^*(G) \subseteq Z_q^\wedge(G)$, such that $q \geq 0$ and $q \neq 1$, by Corollary 3.1. Now let $z \in \mathfrak{Z}_q^*(G)$. Then $\rho(z \wedge yG') = z \wedge y = 1_{G \wedge yG}$ for all $y \in G$. Therefore, $z \in Z_q^\wedge(G)$.

Conversely, let $z \in Z_q^\wedge(G)$. This means that $z \wedge x$ is trivial, for all $x \in G$. If xG' is an arbitrary element of G/G' , then $\rho(z \wedge xG') = 1_{G \wedge xG}$ and so z is an element of $\mathfrak{Z}_q^*(G)$. As a result, $\mathfrak{Z}_q^*(G) = Z_q^\wedge(G)$, as desired. \square

The following criterion is an important result of Theorem 4.1 which gives a necessary and sufficient condition for q -capable groups. This result can also be useful to study ν_q -capable groups.

Theorem 4.2. *A group G is q -capable if and only if its q -epicenter $\mathfrak{Z}_q^*(G)$ is trivial for $q \geq 0$.*

Proof. This is an immediate consequence of Theorem 4.1. \square

5. The Application of the Criterion

In this section, we obtain some necessary conditions for the q -capability of groups. Our method involves the kernel of the homomorphism ρ in Corollary 4.1. In fact, we will use the concept of q -epicenter which is defined by $\ker \rho$. Finally, we determine all q -capable extra-special p -groups when q is a power of p .

For a given finitely generated group A , we set $\exp(A) = 0$ when A contains an element of infinite order. Note that in this case $\exp(A)$ is divisible by all integers. We know that a q -capable group is capable. Hence, by [10, Proposition 2], we have the following lemma. We denote the image of $x \in G$ in $(G/G'\langle z \rangle)$ by \bar{x} .

Lemma 5.1. *Let $q \geq 0$. Consider G to be a q -capable group with a generating set $J(G)$. Let z be a non-trivial q -central element in G and let $z' \neq 1$ be a power of z (it can be equal to z). Then there exists a generator $x \in J(G)$ such that*

- (i) $z' \neq y^{o(\bar{x})}$ for all $y \in Z_q(G)$.
- (ii) $z' \neq x^n$ such that n is a natural number.
- (iii) If $G/Z(G)$ is abelian and no element in $J(G)$ has even order, then $z' \neq w^{o(x)}$ for all $w \in G$.
- (iv) $x(G'G^q\langle z \rangle) \neq a^{o(z')}$ for all $a \in G/(G'G^q\langle z \rangle)$.

Proof. We know that a q -capable group is capable. Hence, by [10, Proposition 2], there exists a generator $x \in J(G)$ such that

- (1) $z' \neq y^{o(\bar{x})}$ for all $y \in Z(G)$.
- (2) $z' \neq x^n$ such that n is a natural number.
- (3) If $G/Z(G)$ is abelian and no element in $J(G)$ has even order, then $z' \neq w^{o(x)}$ for all $w \in G$.
- (4) $x(G'\langle z \rangle) \neq a^{o(z')}$ for all $a \in G/(G'\langle z \rangle)$.

Now, we want to show that x satisfies in the conditions (i)–(iv). Since $Z_q(G) \subseteq Z(G)$, part (1) implies $z' \neq y^{o(\overline{x})}$ for all $y \in Z_q(G)$. So part (1) implies that part (i). If at least one of conditions (i)–(iii) fails, one of the conditions (1)–(3) fails. It is a contradiction. It is sufficient to show that $x(G'G^q\langle z \rangle) \neq a^{o(z')}$ for all $a \in G/(G'G^q\langle z \rangle)$. We denote the image of $x \in G$ in $(G/G'G^q\langle z \rangle)$ by \widehat{x} . Suppose on the contrary that there exists an element a of $G/(G'G^q\langle z \rangle)$ such that $x(G'G^q\langle z \rangle) = a^{o(z')}$. As a result, $x = a^{o(z')}mn^qz^l$ ($m \in G', n \in G, l \geq 0$) and so by Lemma 4.1

$$\begin{aligned} z' \wedge \widehat{x} &= z' \wedge a^{o(z')} \widehat{mn^qz^l} \\ &= (z' \wedge a^{o(z')}) (z' \wedge \widehat{n^q}) (z' \wedge \widehat{z^l}) \\ &= z' \wedge \widehat{z^l}. \end{aligned}$$

As a result, $\rho(z' \wedge \widehat{x}) = z' \wedge z^l = 1$. Thus, $z' \wedge \widehat{x} \in \ker \rho$ and consequently, $z' \in \mathfrak{Z}_q^*(G) \neq 1$. As a result, G is not q -capable, by the criterion for q -capability. It is a contradiction. Therefore, $x(G'G^q\langle z \rangle) \neq a^{o(z')}$ for all $a \in G/(G'G^q\langle z \rangle)$, as required. \square

The following result is taken immediately from Lemma 5.1.

Corollary 5.1. *Let $q \geq 0$. If G is a group such that $\frac{G}{G'G^q}$ is a divisible group and $Z_q(G)$ contains a non-trivial element of finite order, then G is not q -capable.*

For a given subgroup A of an abelian group B , we denote the quotient $A \otimes_{\mathbb{Z}} B / \langle a \otimes a \mid a \in A \rangle$ of the usual tensor product $A \otimes_{\mathbb{Z}} B$ by $A \wedge_{\mathbb{Z}} B$. Let us first look for a condition for q -capability of some certain groups.

Lemma 5.2. *Let H and K be two normal subgroups of the group G such that K is a subgroup of H and $[H, K]$ is trivial. Then*

$$H \wedge^q K \cong H/H^qH' \wedge_{\mathbb{Z}} K/K^qK'.$$

Proof. By [9, Theorem 6(iv)], we have the epimorphism

$$\begin{aligned} \eta : H \otimes^q K &\rightarrow H/H^qH' \otimes_{\mathbb{Z}} K/K^qK' \\ h \otimes k &\mapsto hH^qH' \otimes kK^qK', \\ \{(x_1, x_1)\} &\mapsto x_1H^qH' \otimes x_1K^qK', \end{aligned}$$

for all $h \in H, k \in K$ and $x_1 \in K$. The restriction of η to $\langle x \otimes x \mid x \in K \rangle$ induces the following isomorphism

$$\begin{aligned} H \otimes^q K / \langle x \otimes x \mid x \in K \rangle & \cong (H/H^qH' \otimes_{\mathbb{Z}} K/K^qK') / \langle xH^qH' \otimes xK^qK^q \mid x \in K \rangle, \\ (h \otimes k) \langle x \otimes x \mid x \in K \rangle & \mapsto (hH^qH' \otimes kK^qK^q) \langle xH^qH' \otimes xK^qK^q \mid x \in K \rangle, \\ \{(x_1, x_1)\} \langle x \otimes x \mid x \in K \rangle & \mapsto (x_1H^qH' \otimes x_1K^qK^q) \langle xH^qH' \otimes xK^qK^q \mid x \in K \rangle, \end{aligned}$$

for all $h \in H, k \in K$ and $x_1 \in K$. This means that

$$H \wedge^q K \cong H/H^q H' \wedge_{\mathbb{Z}} K/K^q K',$$

as desired. □

Lemma 5.3. *Let G be a group whose derived factor $G/G' \cong B \oplus C$. Then*

$$Z(G) \wedge^q G/G' \cong (Z(G) \wedge^q B) \oplus (Z(G) \wedge^q C).$$

Proof. Clearly, $Z(G) \wedge_{\mathbb{Z}} (G/G') \cong (Z(G) \wedge_{\mathbb{Z}} B) \oplus (Z(G) \wedge_{\mathbb{Z}} C)$. By Lemmas 5.2 and 4.2, we have

$$\begin{aligned} Z(G) \wedge^q (G/G') &\cong Z(G) \wedge^q G \\ &\cong (Z(G)/Z(G)^q) \wedge_{\mathbb{Z}} (G/G'^q) \\ &\cong ((Z(G)/Z(G)^q) \wedge_{\mathbb{Z}} (B/B^q)) \oplus ((Z(G)/Z(G)^q) \wedge_{\mathbb{Z}} (C/C^q)) \\ &\cong (Z(G) \wedge^q B) \oplus (Z(G) \wedge^q C), \end{aligned}$$

the result follows. □

Theorem 5.1. *Let G be a group whose center Z is a direct sum of cyclic groups. Suppose that Z has finite exponent $\exp(Z)$ and $\ker \rho$ is trivial. If $G/G' \cong B \oplus C$ such that the summand C of G/G' is a cyclic group, the summand B of G/G' is the image of Z and $\exp(Z)$ divides $\exp(C)$, then G is q -capable for $q \geq 0$.*

Proof. By Lemma 5.3, we have

$$Z \wedge^q (G/G') \cong (Z \wedge^q B) \oplus (Z \wedge^q C).$$

Now suppose that $Z = \bigoplus_i \langle x_i \rangle$ where $o(x_i) = n_i$. Fix a generator x_i of Z and assume that c is a generator of C of order n . Clearly, $\langle x_i \rangle \wedge^q C$ is isomorphic to $C_{n_i} \wedge^q C_n$ and also $C_{n_i} \wedge^q C_n = C_{n_i} \otimes^q C_n$. Now we can describe the structure of $C_{n_i} \otimes^q C_n$ by [9, Theorem 6(iv)],

$$C_{n_i} \otimes^q C_n \cong \frac{C_{n_i}}{C_{n_i}^q} \otimes_{\mathbb{Z}} \frac{C_n}{C_n^q}.$$

Consequently, $C_{n_i} \wedge^q C_n$ is isomorphic to \mathbb{Z}_{n_i} or $\mathbb{Z}_{\gcd(n_i, q)}$. Thus, if λ is a positive integer not divisible by $\gcd(o(x_i), q)$ or $o(x_i)$, then

$$1 \neq \lambda x_i \wedge c \in C_{n_i} \wedge^q C_n \subseteq Z \wedge^q (G/G').$$

As a result, $\mathfrak{Z}_q^*(G)$ is trivial and so G is q -capable, as required. □

The following lemma is useful in the next results.

Lemma 5.4. *Let $G \cong \bigoplus_{i=1}^t C_i$ such that n_i divides n_{i+1} and $C_i = \langle x_i \rangle$ is a cyclic summand of G of order n_i for all $1 \leq i \leq t$ and $t \geq 1$. Then the order of $x_i \wedge x_j \in G \wedge^q G$ is n_i or $\gcd(n_i, q)$ for all $1 \leq i < j \leq t$.*

Proof. For $t = 1$, by using Lemma 5.2, we have

$$\begin{aligned} C_{n_1} \wedge^q C_{n_1} &\cong C_{n_1}/C_{n_1}^q \wedge_{\mathbb{Z}} C_{n_1}/C_{n_1}^q \\ &= (\langle x_1 \rangle / \langle x_1^q \rangle) \wedge_{\mathbb{Z}} (\langle x_1 \rangle / \langle x_1^q \rangle) = \frac{(\langle x_1 \rangle / \langle x_1^q \rangle) \otimes_{\mathbb{Z}} (\langle x_1 \rangle / \langle x_1^q \rangle)}{\langle x_1 \langle x_1^q \rangle \otimes x_1 \langle x_1^q \rangle}} \\ &= \frac{\langle x_1 \langle x_1^q \rangle \otimes x_1 \langle x_1^q \rangle}{\langle x_1 \langle x_1^q \rangle \otimes x_1 \langle x_1^q \rangle}} = 1. \end{aligned}$$

Now, let $t = 2$. By induction on t and Lemma 5.2, we obtain that

$$\begin{aligned} G \wedge^q G &\cong G/G^q \wedge_{\mathbb{Z}} G/G^q \\ &\cong \left(\bigoplus_{i=1}^t C_i/C_i^q \wedge_{\mathbb{Z}} C_i/C_i^q \right) \oplus \left(\bigoplus_{1 \leq j < i \leq t} (C_i/C_i^q \wedge_{\mathbb{Z}} C_j/C_j^q) \right) \\ &\cong \left(\bigoplus_{i=1}^t C_i \wedge^q C_i \right) \oplus \left(\bigoplus_{1 \leq j < i \leq t} (C_i \wedge^q C_j) \right). \end{aligned}$$

We also know that $C_i \square C_j$ is trivial, since the intersection of C_i and C_j is trivial. Thus $x_i \wedge x_j \in C_i \wedge^q C_j \cong C_i \wedge_{\mathbb{Z}} C_j$, for all $1 \leq i < j \leq t$. By similar procedure as in the proof of Theorem 5.1, the order of $x_i \wedge x_j$ is n_i or $\gcd(n_i, q)$ for all $1 \leq i < j \leq t$. The proof is complete. \square

Now we can detect the q -capable groups with some weaker assumptions than what has been declared in [10, Theorem 5].

Theorem 5.2. *Let $q \geq 0$. Consider G to be a group whose q -center Z_q is a direct sum of cyclic groups. Suppose that Z_q has finite exponent $\exp(Z_q)$ and $\ker \rho$ is trivial. Assume that the canonical homomorphism $Z_q \rightarrow G/G'$ maps Z_q isomorphically on to a direct summand of G/G' . If at least two cyclic summands of Z_q have exponent equal to the exponent of Z_q , then G is q -capable.*

Proof. We can choose cyclic subgroups $C_i = \langle x_i \rangle$ of order n_i from Z such that $Z_q = \bigoplus_i C_i$, n_{i+1} divides n_i , and n_1 divides q . Since at least two cyclic summands of Z_q have exponent equal to the exponent of Z_q , we can suppose $n_1 = n_2$. We claim that $\mathfrak{Z}_q^*(Z_q)$ is trivial. By [9, Theorem 6(iv)], $Z_q \otimes^q Z_q$ is abelian and so $Z_q \wedge^q Z_q$ is also abelian. Let $z \in \mathfrak{Z}_q^*(Z_q)$ and $z = \sum \lambda_i x_i$ such that λ_i s are integer numbers. Then $z \wedge x$ is trivial for all $x \in Z_q$. Therefore,

$$1 = z \wedge x_2 = \left(\sum_i \lambda_i x_i \right) \wedge x_2 = \sum_i (\lambda_i x_i \wedge x_2) = \sum_i \lambda_i (x_i \wedge x_2)$$

and

$$1 = z \wedge x_1 = \left(\sum_i \lambda_i x_i \right) \wedge x_1 = \sum_i (\lambda_i x_i \wedge x_1) = \sum_i \lambda_i (x_i \wedge x_1).$$

From the construction of the direct product similar to the proof of Lemma 5.4,

$$1 = \lambda_1(x_1 \wedge x_2) = \lambda_3(x_3 \wedge x_2) = \dots$$

and

$$1 = \lambda_2(x_2 \wedge x_1) = \lambda_3(x_3 \wedge x_1) = \dots.$$

Now, since n_i divides q , Lemma 5.4 implies that n_i divides λ_i . Thus $z = \sum_{i=1}^n \lambda_i x_i$ is trivial and hence $\mathfrak{Z}_q^*(Z_q)$ is trivial. But in this case, $G/G' \cong Z_q \oplus A$ for some abelian group A . By Lemma 5.3, we can obtain

$$Z \wedge^q G/G' \cong (Z_q \wedge^q Z) \oplus (Z_q \wedge^q A) \cong (Z_q \wedge^q Z_q) \oplus (Z_q \otimes^q A).$$

In particular, $Z_q \wedge^q Z_q$ is a subgroup of $Z_q \wedge^q G/G'$. Now by considering the definition of $\mathfrak{Z}_q^*(G)$,

$$\mathfrak{Z}_q^*(G) = \{z \in Z(G) \mid z \wedge a = 1_{Z(G) \wedge^q G/G'} \text{ for all } a \in G/G'\},$$

$\mathfrak{Z}_q^*(G)$ is a subgroup of $\mathfrak{Z}_q^*(Z_q)$. If $z \in \mathfrak{Z}_q^*(G)$, then $z \wedge a$ is trivial for all $a \in Z_q$. Since $z \in \mathfrak{Z}_q^*(Z_q) = 1$, we conclude that z is trivial and so G is q -capable, by Theorem 4.2. The proof is complete. □

Corollary 5.2. *Let G be an elementary abelian p -group of order p^k and assume that p divides q ($q \geq 0$). Then G is q -capable for all $k \geq 2$.*

Proof. For $k = 1$, we have G is a cyclic p -group of order p . We know that G is not capable and so G is not q -capable. Now, let $k \geq 2$. Clearly, $\ker(\rho : G \wedge^q G \rightarrow G \wedge^q G)$ is trivial. Theorem 5.2 implies that G is q -capable and the proof is complete. □

Assume p is an odd prime number. One of the most interesting groups are extra-special p -groups which have different properties and plays great roles in group theory. A natural question that arises here is what can one say about q -capability of extra-special p -groups? Let E_1 be the extra special p -group of order p^3 and exponent p ($p > 2$). Using the results of this section, we can also state that E_1 is q -capable.

Lemma 5.5. *Let $E_1 = \langle x, y \mid x^p = y^p = [x, y]^p = [y, x, x] = [y, x, y] = 1 \rangle$. Then $E_1 \wedge^q E_1$ is the group generated by $x \wedge y, x \wedge [x, y], y \wedge [x, y], \{x\}, \{y\}$ with the following relation.*

$$(x \wedge y)^p = (x \wedge [x, y])^p = (y \wedge [x, y])^p = (\{x\})^p = (\{y\})^p = 1.$$

Proof. According to [16, Lemma 2.7], $E_1 \wedge^p E_1$ is generated by the following set

$$\{x \wedge y, [x, y] \wedge x, [x, y] \wedge y, \{x\}, \{y\}\}.$$

Therefore, $\{x^p\} = (\{x\}) \prod_{i=1}^{q-1} (x \wedge x^i)^{q-1} (\{x^{p-1}\})$ and so $\{x\}^p = \{x^p\} = 1$. By [1, Lemma 3.4] we conclude that $(x \wedge y)^p = x^p \wedge y = 1$. Using the same method, we obtain $(x \wedge [x, y])^p = (y \wedge [x, y])^p = (\{y\})^p = 1$. The proof is complete. \square

Theorem 5.3. *Let G be an extra-special p -group ($p > 2$) and q be a power of p . Then, G is q -capable if and only if $G \cong E_1$.*

Proof. Let G be q -capable. Then G is capable. So $G \cong E_1$, by [3, Corollary 8.2]. Conversely, we claim that $G \cong E_1$ is q -capable. By Lemma 5.2, we get

$$Z(G) \wedge^p G = \langle [x, y] \wedge x, [x, y] \wedge y \mid ([x, y] \wedge x)^p = ([x, y] \wedge y)^p = 1 \rangle \cong C_p \times C_p.$$

By Corollary 4.1, we have the following homomorphism ρ ,

$$\begin{aligned} \rho : Z(G) \wedge^p G/G' &\rightarrow G \wedge^p G \\ [x, y] \wedge xG' &\mapsto [x, y] \wedge x, \\ [x, y] \wedge yG' &\mapsto [x, y] \wedge y. \end{aligned}$$

If $[x, y]^l \in \mathfrak{Z}_p^*(G)$ for some $l \geq 0$, then $[x, y]^l \wedge a \in \ker \rho$ for all $a \in G/G'$. Therefore, $[x, y]^l \wedge xG'$ is an element of $\ker \rho$. Thus, $[x, y]^l \wedge x = 1$. On the other hand, $([x, y] \wedge x)^l = 1$ and so p divides l . As a result, $[x, y]^l = 1$. Now, we can easily verify that $\mathfrak{Z}_p^*(G)$ is trivial and consequently, G is p -capable. The rest of the proof is straightforward from Lemma 3.2 and Theorem 4.2. The result follows. \square

References

1. M. Bacon and L.-C. Kappe, The nonabelian tensor square of a 2-generator p -group of class 2, *Arch. Math.* **61** (1993) 508–516.
2. R. Baer, Groups with preassigned central and central quotient group, *Trans. Amer. Math. Soc.* **44** (1938) 387–412.
3. F. R. Beyl, U. Felgner and P. Schmid, On groups occurring as center factor groups, *J. Algebra* **61** (1979) 161–177.
4. R. Brown, q -perfect groups and universal q -central extensions, *Publ. Mat.* **34** (1990) 291–297.
5. R. Brown and J.-L. Loday, Van Kampen theorems for diagrams of spaces, *Topology* **26** (1987) 311–335.
6. T. P. Bueno and N. R. Rocco, On the q -tensor square of a group, *J. Group Theory* **14** (2011) 785–805.
7. J. Burns and G. Ellis, On the nilpotent multipliers of a group, *Math. Z.* **226** (1997) 405–428.
8. C. Conduche and C. Rodriguez-Fernandez, Non-abelian tensor and exterior products modulo q and universal q -central relative extensions, *J. Pure Appl. Algebra* **78** (1992) 139–160.

9. G. Ellis, Tensor products and q -crossed modules, *J. London Math. Soc.* **51** (1995) 243–258.
10. G. Ellis, On the capability of groups, *Proc. Edinb. Math. Soc. (2)* **41** (1998) 487–495.
11. M. Hall and J. K. Senior, *The Group of Order 2^n ($n \leq 6$)* (Macmillan, New York, 1964).
12. I. M. Issacs, Derived subgroups and centers of capable groups, *Proc. Amer. Math. Soc.* **129** (2001) 2853–2859.
13. M. R. R. Moghaddam and S. Kayvanfar, A new notion derived from varieties of groups, *Algebra Colloq.* **4**(1) (1997) 1–11.
14. I. N. Nakaoka and N. R. Rocco, A survey of non-abelian tensor products of groups and related constructions, *Bol. Soc. Paran. Mat.* **30** (2012) 77–89.
15. H. Neumann, *Varieties of Groups* (Springer-Verlag, Berlin, 1967).
16. N. R. Rocco and E. C. P. Rodrigues, The q -tensor square of finitely generated nilpotent groups, q odd, *J. Algebra and Its Applications* **16**(11) (2017) 175–211.